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Instruction: l: Figures to right side indicated tull marks'

2: Eachsectiolishould be written in a separate ansrver book'

3: Assume suitable data if required'
4: Be precise and to the poini in your answer'
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How link state routing builds routing table? Explain four sets of actions t6l

are required to build routing table.

f*pfuin RIP version 2 in dJail' t6l

oR.
what is the difference between distance vector routing and link state t6j

routing?
Explain foliowing terms: 16l

a. Transit Autonorrous SYstem
b, BGP keePalive message
c. ICMP sotrrce qtlench mcssage

The ARP output ntocluie receives an IP clatagram (frorn the IP layer) t5l

with rhe cresrination address zz0.l.i.r4. Irow ARp piotocol will handle

packets for the same destinarion? E'xplain'

Table l: ARP Catch table
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tAl Explain structure of router at netrvork layer'

lBl Write short note on IGMP.

IAI Explain following iCMP error reporting messages:

(tf fime exceeded message (2) Parameter Problem message

tBI Explain Address aggregation with example'

tcl Explain ProxY ARP.
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Explain in brief the foi,r dilferent timers: Retransmission,
Persistence. Keep alive and TIME-WAIT used in TCP?
Ansrver the following questions:
a. What is the minimum siz,e of a UDP datagram?
b. What is the maximum size of a UDP datagram?
c. What is the minimum size of the process data that can be

encapsulated in a UDP datagram?
d. W-hat is the maximum size of the
encapsulated in a UDP datagram?

process data that can be

e. If the sender decides not to include the cheoksum thenwhat vaiue is
sent in checksum fieid?
f. UDP is suitable for DNS but not suitabie for SMTP why?

OR
What is Retransmission ambiguity and horv it is solved by
Karn's Aigorithm? What is Exponential back-off strategy- of
calculating RT'O?
The following is a dump of a UDP header in hexadecimal format.

c884000D001c001c
a. What is the source port number?
b, What is the destination norl number?
c. What is the total length of the user datagram?
d. What is the length of the data?
e. ls the packet directed frtim a ciieni to a server or vice versa?
l-- What is the ciient process'/
Ilint: Well known port for Daytime protocol is l3

Briefly describe the SNIIP protocol. Dehne the roles of SNMP, SMI
and It4lB in network management?
Shorry the BER (Rasic eneoding rules) encoding for the
INTEGER l4,where the Tag t'alue of 'IypeINTEGER is
00000010 (in binary) or 02 (in llex) and size is 4 Bytes.
TCP opens a connection using an initial segu€nce number (iSN)
of 14,534.T'he other paffy opens the connection with an ISN of
21,732. Shorv the three TCP segments during the connection
establi shment with complete header in form at ion?
Use the follolving Flag lields for corresponding segments -

000000 -- A data segmeni with no acknowledgment
010000 ---+ An ACK segment'with or without data
000010 ---+ A SYN segment
000001 -+ A FIN segment
0i0010 ---' An ACK r SYN segrnent

You can assl:me any suitable value for rest of the TCP header
fields.

OR
Explain the 3 phases of congestion control policy used in TCP?
Explain the SYN- flooding attack in TCP. How it is overcome by SCTP
nrntnr .n l?

Write short note on: SlvlTP I4l

An ISP is granted a block of addresses starting with 190.1 00.0'0/1 6- The t6l
ISP needs to distribute these addresses to three groups of customers as

follorvs:
1. The first group has 64 customers; each needs 256 addresses.

2. The s.rond group has i28 customers; each needs i28 addresses.

3. The third Eoup has 128 customeis, each needs 54 addresses.

Design ttre suUUlocks an,J give the slash notation for each subblock'

Find out holv many addresses are still availabie after these allocations-

What is the broadcast address for Ethemet? Ill

Which fields of the IP header change from router to router? IU
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